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I Continuation of dispute between 9"1/13nv 1 if case assumed by v" is D191 YONWIY DN Or PINT IONVIV DIMN 9P
a  Reasons:
i ™ prefers to read case as including even n'nnn
ii 9™ juxtaposition of Nn»av::n1Pan — just as N1a1 cannot work with o NN, so NN’2v cannot be applied to NN
b Consistency: dispute in re: selling a stolen na10 according to v":
i :liable for nwnm nYaIR - even though nn»av wouldn’t generate liability (781 n»RY nVNY), selling does
ii  9™: exempt — since Nn’av doesn’t generate liability, neither does n1an
¢ Arguments:
i " = Y™ ra ruling that if he stole oY) and slaughtered it or stole a N91v and sold it — liable for 'm "1
1 Interpretation #1: author is v"1 — even though n9v nv'nw wouldn’t carry liability, selling it does
(a) Rejection: author is 1337 -
(i) Bloc k (»7): if so, why do they limit liability for na7v to selling?
(if) Response (579): if it is w™, why limit liability for &3 to nvNY?
1. Rather: just as w" could be the authority, mentioning o853 no'nw but including n1on
2. So too: 13271 could be the authority, mentioning 1970 nvan but including na»v no'nwY as well
(iii) Rejoinder (»79): if it is W™, since N9V can only have 1 (1772n), he also mentioned 1 (MV'NW) in re: DR
1. But if: it is 1327, why not just bundle them and mention both n7am nnMYav in re: N9V WRSI? RWVP
2 Challenge: how can m&Y3 be included in the rubric of ‘m "1? the nmin stipulates nw (or M),
(a) And: xa1stated that every time nw appears, it excludes oR%3 (via 2R 112)
(b) Answer: this case is different, the disjunctive W includes n)xY
(c) Challenge: v. 2 uses Wk and we read that as excluding o'8%3 (or nnT1 —animal that resembles neither parent)
(i) Answer (¥37): both are contextually driven:
1. In re 7222 it states only N1 1w which can’t produce (anything) — 1 must include n'xY2
2. In re w77 it states 1 1R 2w, which could produce DR, R must be exclusive
a. Challenge: in v. 2 it also states 2w 1R MW, which can’t produce 0% — why exclude?
i.  Answer: since the second disjunct must be exclusive, so must first one
ii.  Challenge: try opposite approach — since 1¢t disjunct appears to include, why not 2" also?
iii. Answer: 2 WM needed (D'RY2 + MNTI); 2 D2 unneeded (if DRYI in, certainly nnT1 is)
(d) Question: what is the application of X27s a8 112?
(i) Cannot be: ©w1p — already excluded via v. 2
(ii) Cannot be: nnna MWwyn — excluced via nnn:nnn from W7 (Vv. 2,4)
(iii) Cannot be: 1131 — excluded via v. 3 — both mother and 7131 must be "w”
(iv) Answer: for mmn 109 11779 (must be a NW as per »:3 MNY) - NY and not DR
1. question: according to 8™, who permits using 0’893 for 1mn 704 18 (N:X MTNI2)
2. answer: to exclude a 8nv born of a NNV or vice-versa (contra *"1 who infers that from v. 5)
a. question: can a "NV become pregnant from a Xnv?
b. Answer: yes, from a 015 (proper species with uncloven hoofs) as per v™ (calls it a "rnv)
II  x17:if 2”nya took a 9M to bring an %y and designated an ox which was then stolen
a  question: can the 111 exempt himself by replacing a lamb (1321%) or a bird (”ar1) (see 13 mnn above)
b or: can 2”nya claim he wanted to fulfill the mxn in the finest way (and 113 must replace M)
i Answer: 23 may replenish less expensive as per mwn above — he has repaid the debt owed by 1”nya to w1pn
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